

Kansas Corporation Commission Oil & Gas Conservation Division

1088097

Form ACO-1

June 2009

Form Must Be Typed

Form must be Signed

All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-Entry Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Conv. to GSW	Chloride content: ppm Fluid volume: bbls Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	Quarter Sec TwpS. R
ENHR Permit #:	County: Permit #:
GSW Permit #:	. 5
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II Approved by: Date:

Side Two



Operator Name:			Lease Name:			_ Well #:	
Sec Twp	S. R	East West	County:				
time tool open and clo	osed, flowing and shu es if gas to surface te	d base of formations pe t-in pressures, whether st, along with final char well site report.	shut-in pressure rea	ached static level,	hydrostatic press	sures, bottom h	ole temperature, fluid
Drill Stem Tests Taker (Attach Additional S		Yes No		_og Formatio	n (Top), Depth an	d Datum	Sample
Samples Sent to Geo	logical Survey	Yes No	Nar	ne		Тор	Datum
Cores Taken Electric Log Run Electric Log Submittee (If no, Submit Copy		Yes No Yes No Yes No					
List All E. Logs Run:							
				lew Used			
D (0)	Size Hole	Report all strings set	t-conductor, surface, in Weight	termediate, producti Setting	on, etc. Type of	# Sacks	Type and Percent
Purpose of String	Drilled	Set (In O.D.)	Lbs. / Ft.	Depth	Cement	Used	Additives
		ADDITION					
Purpose:	Donth		AL CEMENTING / SQ	UEEZE RECORD			
Perforate	Depth Top Bottom	Type of Cement	# Sacks Used		Type and F	Percent Additives	
Protect Casing Plug Back TD							
Plug Off Zone							
Shots Per Foot	PERFORATI	ON RECORD - Bridge Plu	ıgs Set/Type		cture, Shot, Cement		
	Specify	Footage of Each Interval Pe	erforated	(Ai	mount and Kind of Ma	aterial Used)	Depth
				ļ <u>-</u>			
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	Yes No		
Date of First, Resumed	Production, SWD or EN	HR. Producing Me		Gas Lift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf Wa	iter B	bls. (Gas-Oil Ratio	Gravity
		'					
	ON OF GAS:		METHOD OF COMPL			PRODUCTIO	ON INTERVAL:
Vented Sold		Open Hole			nmingled mit ACO-4)		
(If vented, Sui	bmit ACO-18.)	Other (Specify)					



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

-			-	~=	
Т	MIN		11	CE	
	IVI	v .			

236872 Invoice #

Page

1

Invoice Date: 09/28/2010 Terms:

SCHMIDT K #1 28515

09-24-10

LACHENMAYR OIL CO P.O. BOX 526 NEWTON KS 67114 (316) 282-0400

Part Number	Description	Qty	Unit Price	Total
1104S	CLASS "A" CEMENT (SALE)	200.00	13.5000	2700.00
1102	CALCIUM CHLORIDE (50#)	320.00	.7500	240.00
1118B	PREMIUM GEL / BENTONITE	400.00	.2000	80.00
1137	CDI-26	100.00	7.2500	725.00
4158	FLOAT SHOE FLAPPER 5 1/2	1.00	284.0000	284.00
4454	5 1/2" LATCH DOWN PLUG	1.00	242.0000	242.00
4130	CENTRALIZER 5 1/2"	3.00	46.0000	138.00
1130				
Description		Hours	Unit Price	Total
446 CEMENT PUMP		1.00	925.00	925.00
446 EQUIPMENT MILE	AGE (ONE WAY)	60.00	3.65	219.00
502 TON MILEAGE DE		600.00	1.20	720.00

.00 Tax: 6638.95 365.95 AR

4409.00 Freight: Parts: .00 Total: 6638.95 .00 Misc: Labor: .00 Change: .00 Supplies: .00

Signed

Date





TICKET NUMBER 28551

LOCATION FL DELPED # 85

FOREMAN LARRAY SHORK

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

FIELD TICKET & TREATMENT REPORT

			4-10101-	•			and the second second second second second
DATE	CUSTOMER#	WELL NAME & N	NUMBER	SECTION	TOWNSHIP	RANGE	COUNTY
10-1-10	4897	Schwa 2+	K#/	30	225	3E	HARVEY
CUSTOMER		O8 Co	Sarriera .				
LACINE	SWONLAND	UN CO	///	TRUCK#	DRIVER	TRUCK#	DRIVER
MAILING ADDRE			1 / 1	467	ROW M.		
P 0. 180	y 526		Total	502	TEB		
CITY		STATE ZIP CODE		539	LARRY		
Newto	W	K3 67/14			1		
JOB TYPE \ S	es B	HOLE SIZE 478	HOLE DEPTH		CASING SIZE & V	VEIGHT 4	
CASING DEPTH	2711	DRILL PIPE	TUBING 23	2 Sm		OTHER	
SLURRY WEIGH	IT	SLURRY VOL	WATER gal/s	k	CEMENT LEFT IN		WE
DISPLACEMENT	10.53	DISPLACEMENT PSI	<u>∞ MIX PSI</u> 5	00	RATE 3,3 N		
REMARKS: 3	Afry Meet	que - Welded			18R 143	A. RA	no 960
F 8EC WO	- Pulldur	to 2711 1t	Comandi	JA FROM	25 sks A	1+ 16	10I-26
+229	CACUL	- TRANKOED	934 bbb	- DROBOS	D BALL	- Port	(Attra)
do pour	-1	crewto but	- 09 L9h	PER JAC	- BA	OK MIN	hED.
Extras .		cost time			Ilma-tob	Pura.	
7					-		
						THEORY	

ACCOUNT	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
540		PUMP CHARGE	925.00	925.00
5406	60_	MILEAGE	3.65	219.00
11045	ನಿನ	sks Class A	13.50	337.50
1137	/2	16 COT-16	7.25	87,00
1108 5407	80	Bulk Deliverby	3/5.00	3/5.00
4310	1	42 PARTAIL PWER ShOE	645,00	645.00
4310		Tool Rental	1145.00	1/25.02
		<i>'</i>		
	48	31/1.1		2712 57
		Q4946-441	SALES TAX	18773 18773
vin 3737	11 11	331083	ESTIMATED TOTAL	3900.63
UTHORIZTION	John dow	TITLE 10-11-17	DATE 10/1	710

I acknowledge that the payment terms, unless specifically-amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.